You are getting sleecepy. .. A pocket-watch (modeled as a thin uniform disk of mass M and radius R) Is attached
to u very light chain of length L and released st rest from an Initial small angle 8y (measured between the chain and
the vertical) to execute the familiar periodic motion,

® 1a) (10 pointa) Derive the natural angular frequency of that periodic motion. Evaluate your answer in the

limit B — 0 and diseuss:
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e 1b) (10 points)

If the pocket-watch swings back-and-forth with a period T, what s the magnitude of the

neceleration due to gravity at the location of the stopwateh?
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¢ le) (10 points)  What fraction of time will the stopwatch spend botween fg/v/Z and —6/v2 ? No guessing
- you must show your work for full credit,
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